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SECTION—A / N / >IN /| $—ag [/ F—wm
Choose the correct answer :
% T AR Sfeed -
u% TE1l @RS
4 e v fag
H@?ﬂ{ﬁﬁ'{:
/}Jl}ich one of the following is a non-terminating repeating
decimal?
T] (O f=fd (e afit 2
frare @l Fraft (msefae i 2
TEE w™ Gﬁam%ﬁ% ElCEIEze o
frfefea ¥ & SF-w srara s 2w waw 22

3 7 64 124
a) — — — d) —
@ 3 ®) 86 9/ 455 @ s
/2. The product of the zeros of x? =15 is 1

'x —153‘17411?#{%%@%?1?{

x2 -15- aa*ﬁ]@aoﬁwm

x —lsﬁ@@mﬁrﬁnﬂa@mw

x —ISEWWW%

y/-w (b) 15 ) 15 d -V15

/ Consider the following pairs of linear equations :
1) 3x+2y=5; 2x+3y =95
(i) 2x-3y=7; 2x —?.Sy =8
Choose the correct alternative.
(@) The pairs in (i) and (ii) are consistent.

(b) The pairs in (i) and (ii) are inconsistent.
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(c) The pair in (i) is inconsistent, whereas the pair in (i) is
consistent.
(d) The pair in (i) is consistent, whereas the pair in (ii) is
inconsistent.

G (AP AP (RTAED] FATavn 1

(i) 3x+2y=95; 2x+3y =35

(i) 2x-3y=7,2x-3y=8

2% fAws AR Tfead |

(a) (i) S (i) I CATITA S |

(b) (i) T (ii) I QAILIAR PRITS |

C fe) (i) R PR, 7 (i) 3 QRO A |
18Y ()3 CATATO1 Asrs, %7 (i) 3 CURTHT RIS |
s e Reer cwreis s 7
o (i) 3x+2y=35; 2x+3y =95

(i) 2x-3y=7;, 2x-3y =8

s el @rAe

(a) (i) 9?2 (ii)-93 @@@ﬁ BT |

Q

(b) (i) R (it} CRTBISE TS |

(c) (f)—a%@%ﬁ 2o, 7 (ii)-97 (HIOIH TS |
(d) (i)-<93 CoToIs WS, 7 (ii)-93 (S TS |
el SRS GHAUER 9 TERE! A

(i) 3x+2y=5; 2x+3y=95

(i) 2x-3y=7,2x-3y=8

e famaE a1 RgA |

(@ (i) 3 () T TR @REEE|

() (i) 3M (i) 7 FTE Gt

(c) ()T ST @xenly, mum (i) 7 9T eeEm)
(d). ()F 3T EreEm, uw (6) RS e
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1 e wiirrn % gt w e it

(i) 3x+2y=95;2x+3y=5

(i) 2x-3y=7,2x-3y=8

@ faeea gfm)

(@) (i) 3R (i) 3 W Ga §)

(b) (i) 3 (ii) A= W 3rdTE B

(c) (i) W FWT & F&@TH (ii) F YW G )

(d) (i) M G4 ¢ F=T6 (i) B TW JET B
/Thc 30th term of the AP 10, 7, 4, ... is 1

10, 7, 4, ... J@A ARBA 30T 201 T'HA

10, 7, 4, ... 5w 25y 30T mf 2@

10, 7, 4, ... qEqia Srmfafy 30f femE s

10, 7, 4, m%@ 30af w2 2
Q

(a) -67 N - 77 (c) -87 {d) — 97

}/Lct ABC @u&anglc such that AB=6VY3 c¢m, AC =12 cm
and BC 2% cm. Angle B is

ABC f&383 AB'=6VY3 cm, AC =12 cm 9% BC =6 cm. B @]
25 |

ABC fogts®@ AB =6V3 cm, AC =12 cm @3 BC =6 cm. B @}
@l |

ABC ¥m@fRamfi AB=6V3 cm, AC=12 cm 3M BC =6 cm.
B @91 1A

ABC fn@ # AB=6V3cm, AC=12 cm 3 BC=6cm 7,

A S B & 9 2
(@ 120° (ygo‘* : (c) 60° (d) as°
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6. /The distance between the points (0, 0) and (-8, 6) is 1
/{0, 0) WIF (-8, 6) R B I 7Y T’

(0, 0) @ (-8, 6) f 7R Teu /Y =

(0, 0) 3 (-8, 6) fa=t AT AR U SR

A fargadt (0, 0) 2k (-8, 6) T AT A H R

ylo (b) 8 " () 6 d 2
7. Which of the following is true? 1

(a) The value of tan A is always less than 1.

(b) The value of cotA is always greater than L
(c) sin® =% for some angle 6.

([d) secH = lsg for some angle 6.

ﬂ cot A3 %@%ﬂ 15S(F TleT |

~

{c) A C?ﬂ‘i 83 @A sinb =

“‘15 mlm

(d) @A (31963 AW sech =
fiare @i 791 ?

(@) tan A-<3 T KA 1 CACF @O |
(b) cotA-<R T 3 1 (¥CF ] |
(c) @mmqe—tﬂﬂwg:nﬁ-

3"
(d) @TA @I 6-9F T sech = 2.
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TeEH qrE A ?

(@) tan ATA @E smEl 1 T 3R

(b) cot AT W =l 1 figgg

(c) m&m@’meﬁm@usinh%.

(d) wﬁm@meﬁmmsece_l_g.

Ffafaa § 4 Be-w wd 27

(@) tan A% 9H G4 1 | 57 g

(b) cotAWﬁﬁF?Hlﬁag,T?ﬁT%l

(c) Toh 11 6 % fe sin 6 = 2 Bar R
(d) T = 6 % frg sech = 12 At &)

/ he angle of e n of the top of a tower from a point on
the ground, w

s 15.m away from the foot of the tower,
is 60°. The % ht of the tower is

1
aﬁww@«wwmw TS Wt @bt R o1 BIHR WA TR
1 60° 2’7 TH T 2

b A AW (W@ 15 m T3 TS a1 @3fs R cars woia Aok
T (@19 60° T TE THO T

™ 7 R ARfEE 15 m IAuEE e aEm A R
AR St @A 60° e TERE Shurgar S

wdl % T frg A N o & we-Rrg /15 mog R, WeR ¥ Rre w3 m
w91 60° ¥ 1 FAR i = Beh

(@ 15m (b) v3m (¢ %—%m (d) 30V3m
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9,”A circle can have parallel tangent(s) at the most. 1
b1 ST TR QMR T SIS ©opfs A AR |

< ram @ @R b TS ~opfE WS oA |

T e ifeaa & fom wike g o ge

T g9 4 At | A wxi-tard & wd! 8
(@ 1 y/2 (c) 3 (d) 4

10 The deéree measure of the angle at the centre of a circle is 1.
The area of the sector is 1

3BT @FFS (IEH Ao 1, FTEFWOR fA et

TR e @eia A 1, JeFata e

Fgaf fiears amf BAm @'t R 9w 1, TR sia e
@Qﬁ%#%aﬁmmnﬁlﬁtﬁ@,?ﬁmﬁw&i@mmﬁn

2 2 2
2 nr nr nr
(@ mr ST @ Q8o (9360

where r is the radius of the circle.
'S r 27 ISR W{&Q@

QAT r o %&w |

S e rﬁ@?ﬁ g'@na|

ﬂﬁrgﬂﬁ%%l

y/ The volume. of a spherc is 2887 cm3. The radius of the
sphere is 1

<51 (TR e 2881 cm. (TERIOR I T

G (STECFT TS 288 1 cm. (NI IFNY ZCe
A g demméa 288 cm®. JER @ A
et e @1 Ted 2881 cm® R e it s &

fa) 2 cm (b) 4 cm yt’) cm (d) 8 cm
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/12(' The probability of an impossible event is
91 THA AR SRS 2'F

G3fb SR ORISR 2l
A s same snaream s
JEVE 9 Y Wit Bt &

@ o (b) 025 () 05 (d) '1

~

SECTION—B / ¥—1l / w—xirq) / GF—aATET [ @—WTT

13< Find the HCF of 96 and 404 by
Hence, find their LCM.

2
Qe TeomP i 96 W* 40495 . @. RS | TR om
PrEeq . 311, =, Shied |

A TP ﬂ‘@%ﬁm 96 a2
9] (T O . "ﬂ§ @A I
ﬂmﬁmﬁrﬁ W96Nﬁ404ﬁémmﬁ§q|%ﬁmm}
arh 3, :m@ﬁgm

uwumﬁfﬁmgaaﬂt4o4mHCFmﬁﬁqafnﬁﬂm
LCM @ $ifsmy |

»
I

the prime factorization method.

404-93 9. . 8. @ AN

14. Half the ‘perimeter of a rectangular garden, whose length is
4 m more than its width, is 36 m. Find the dimensions of
the garden.

2
9N SO AR rgels WY 4 m QR TR “R%r Wy 36 m.
oo e, o Ry 34,

¥ SO MR 2% (v 0 4 m Q@ | @ ARNR ks 36 m.
R O, o7 ey a3y |
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T aenf faam aiftf Memssn [anfigs 4 m iftm) 3 IR Refy
QEgT 36 m. faER aTRf Mo I EwE g

TF A[AHR ar, R e, %ﬁ@ﬁ%d;mawﬁaa% F1 3defReTg
36 m 21 am § gl @ R

15, The 11th term of an AP is 38 and the 16th term is 73. Find the

/ common difference. 2

Bl B A5 11"*-1%38% 1699 51 73. YR w51 [

11
«3fb TR oafeq 1199 Wb 38 € 169K MG 73. MR w1 [
el
T aEgfa S 11 fr fagen 38 3w 16ﬁ:faara173 AR
wrrTE) fagd |
el TR A w1 114 38 a1 1641 W 73 2, ?hmaﬁm
(common differe T B
)
\Q‘Zr
QQ
16. Find thf:%pomt on the x-axis which is equidistant from
(2, -5) and (-2, 9). 2
(2, -5) ¥ (-2, 9) M TR *[1 FTEIS x-TAF SIS o1 Reor fAefa
FH1 1
(2, -5) @78 (-2, 9) Ry b (T TG x-HCF TNA i e Refa
A |
(2, -5) 3 (-2, g)ﬁﬁtﬁmﬁmmaﬂwxﬂ&m@ﬁmﬁ
aAr e g
x-31g T 78 fag 718 AR N (2, -5) 3K (-2, 9) | THRE R
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/f- If sinA= E" calculate cos A and cotA. (A is an acute angle)
% sin A

2

-bI'CA'-'

,cosAWcotAﬁ‘fﬂW | (A <51 STHCF)
T sin A =

|

) COS A @ cot A fefy 7z 1 (A <3 Sparc)
IR sina=3 5 COS A 3 cot A & RgA| (A 30 9V @'wren @'T)

afg sinA=% B, @ cosA 3N cotA = WA R R (A
I §)

18. Evaluate/Tm Ry =1 /am Ry a1/ am gr/mm Framfere
sin 30°+ tan 45°- cosec 60°
sec30°+ cos60°+ cot45°

19. If tan2A =cot(A-18°), where 24 is an acute angle, find the
value of A.

M tan 24 = cot (A ~18°), AT T Refu 341 1 24 STHI |

i tan 24 = cot(A;\\@), A-R TR Tl T 1 24 < ST |

iﬁtanQA—c% -182), AT wm Rg) 24 30 9w’ @'y

?Iﬁtanm@otm 18°), 1 2A T = R, B A TR 1w Ay

20. Prove that/o 7431 U/ 2 LA @ /B @ 2 /Rrg i fs
cos A +1+$inA_2
l+sinA CoOsA secA

A is an acute angle. 2
A B STHTFI |

A D TR |

A 3 WHE @5 @'

A TF = R)
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21¢ A bag contains 3 red balls and 5 black balls. A ball is drawn
at random from the bag. What is the probability that the ball

drawn is (cf} red and (b) not red?

93 (@FTe 351 8T TF S F'A I8 I LR | (AWIRAE o[ <GB 9
RS B T | 51 0B (@) 81 I8 (RAR WF (b) I87 363 (AILIAR
ST e 2

a3 «frs 3 @@ @32 S e WweR @ R W T @I @
foFSia M1 1 | BT 90 (@) 7 I8 REIR @32 (b) 7 I8 [ TSR
TR F6 2 _

TR FATAE A9 3 M1 9 3R 07 5 NEHE 96 58 | Sermi-ee a6 o
T8 T TETIHE | (q) TN MEE AR AR (b) M TEH g e
A7

3 # 3 o ok 5 @l R ) W iR R ¥ R ggssa e
STt 2 1 3R WTiehal #4175 W8 (@) A @ 3R (b) e Ad Y

SECTION—C g s@rﬁn [ S=> [/ T—aTEREN [ T—T
N ,

yrove that \/%@irrational.

ﬂqﬂﬂ@%ml

21 AT @ V2 T |

wreE @ream R V2 3 tasieay |
fog fifsie % V2w it we g

. Divide the polynomial p[x)_by the polynomial g(x), and find

the quotient and the remainder : 3
P(X) TRTOE g(x) IO R I, F S5 F S50 ey 740
P(x) IPFRCE g(x) TR0 AT 1% FC, G2 9T @ SISO fRefy A

[ Contd.
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p(x)ﬁ?ﬁ’h‘ﬂ?@ q(x)ﬁmﬂaﬁmﬂlﬁmmmﬁ?{:
TEI p(x) H g(x) B 1 i 3 e AwEA T@ HIT

p(x) = x3 -3x2 +5x-3, g(x)= x? -2
24. If we add 1 to the numerator and subtract 1 from the
denominator, a fraction reduces to 1. It becomes % if we only

.add 1 to the denominator. What is the fraction?

AR RS 1 I W /R o 1 R e, @B e el 1.
Wﬁnﬁwmlmﬂw,mﬁmﬂ%awm%?

M [N @ 1 @ IR 93 ™9 (T 1 o 3R, a3 smer =1 14
A 1t vy =S 1 et 1, v «ofb = 1 1 seeh R 2

M T 1 e A REE 1 e, i SaEEe
1 3 Ao |t gR tmee’ 1@\@1&’13@1%3@%{%&@@
@ M7

MEsmA 1SianwAY 1 v d, @ P 1 % 55 9t 71 9k &
FA WY 1%%,&&3@63@%1%%@1%?
K\Q

}a./ Solve />IN /SR F31/ TG gt /et DR - | 3

$&5 V2x? +7x+5vY2 =0
Q
26. The diffe§encc of 'squares of two natural numbers is 180. ™

The square of the smaller number is 8 times the larger number.
Find the two numbers.

_ 3
! FoMRT AR 93 RN 180. 3% HTBR 35 TreaBR 8 11 2,

R o1 fef <1 |

T FeRe am s Reewe 180, b siema 3ol wuha 8 19 ==,
R 9% Ref A

A SR TfERR WM 180. 3ERA RmR @i YRR SRR
8 ®H MR | srfen date R

2 TR FEms % i W o 180 31 BV dew T wE o F 8
7 21 A et 1 B '
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27. In what ratio does the point (-4, 6) divide the line segment

joining the points A(-6,10) and B(3, - 8) internally? 3
A(-6,10) IF B (3, - 8) R A0 @WReT (-4, 6) Ra & oo
e I ?
A(-6,10) @R B (3, -8) R cuf @ee (-4, 6) Ry N weme
TEeE A7
A(-6,10) 31 B (3, _ 8) Y i ST g @R (-4, 6) e A
THUTEAE TA?
firg (-4, 6), Targalt A(-6,10) 3 B (3, - 8) F SIg T TR FY AAlH
w7 ¥ fra agara 3 fanfra w27

28. Find the sum of the first 22 terms of an AP whose common
difference is 7 and the 22nd term is 149, 3
31 ST Ao STYAT T 7 SE 22T ACH1 149 X7 WR A 2261
ofq CqIoTEe fRefy 37 |
mmaﬁ-«mm%@eﬂ G 22%% MG 149 TA <R o 220
o caarae fadfy az%\\

As _

eI E G () smivR. e 7 s 22f e 149 e
afy ffr 226 e g | .
mmﬁﬁ%smmﬂmmmﬁqmaﬁﬁm?%m
22af 75 149 ¥ ' L

29. In an equilateral triangle, prove that three times the square
of one side is equal to four times the square of one of its
altitudes. ' 3
wqwmmwﬁwaﬁwaﬁﬁﬁpqmwmﬁﬁz«
sk 9 |

, mqmmwﬁwﬁwmwwﬁﬁmqmmw
- 5T BRBA T | '
AN
B19-GM/21B [ Contd.
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PR wEm R A e ety sTafymty A st @i
G A TR Sl TR eEF e s

e g Poge %, g B 6 300 @ g & o w1 R 36 T
wfidfeid ¥ =i F 9 T F O Sl &

}E(. Find the ‘valuc of K if the points (8,1), (K, -4), (2, -5) are
collinear. 3

(8,1), (K, -4), (2, - 5) R ff01 w303 2°0a1 K T 7w fefy 31 o
1), (K,-4), (2, —S)ﬁﬁﬁs—arm GICIR 2 K -a7 I Refa 3
(8,1), (K, -4), (2, - 5) &= Arumm ¥ gra@tenht w@een K 1w g
K %1 71 7@ it af figd (8, 1), (K, —4), (2, - 5) el § |

31. From each corner of a square of side. 4 cm, a quadrant of

a circle of radius 1 c¢m is cut and alsoa circle of diameter 2 cm
is cut as shown in the figure below. Find the area of the

rcniaining portion of {&e square (Take = =2—72—} :

Q
Wiﬁ@ﬁa{w@ﬁ cm M @Bl 1CF 2B A RT 1 em
mﬁ@w@m@ﬁimr{cmwz cm IJPR 91 JB8 FIf

@nmmw%@%}@ﬁ?ﬂﬂﬁﬁm‘ﬁﬁﬁﬂ‘ﬂﬁ(n:z—?{% =) -

ﬁtﬂ%@ﬁ%ﬁﬁ#emﬁfﬁ@ﬁﬁﬁfiﬂﬁﬁ%ﬁmmlcm

w&amﬁmaﬁmmm%ﬁwm«mzcmw

wﬁwe@zﬁﬁemmwwmmﬁr@ummﬁﬁWm
22

(

=— (& 4290) -
=% )

TR wEmhEE RfREm R 4 cm I@FR TR Tieemi @'

mﬁﬁmm1cmq’@mﬁﬁﬁ%@qﬁa’mm’mwaer2 cm

@ﬁﬁm%mm’mmlaﬁﬁmmmﬁmﬁxﬁy
22

(n=7@ﬂmﬁ3q):

© B19-GM/21B [ Contd.
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4 cm Y91 I TF T F ¥&4F 4 A 1 om v 9@ g9 71 w-aguin
R T4 R o oftw & 2 cmmm@w*ﬁmw%ﬂmﬁsﬁ%ﬁ

nmwéaaﬁ%ﬁmmﬂmmﬁﬁq(n=?ﬁﬁt{):

B

A

SECTION—D / 9—>¥1 / 9—>*M%1 / 9—aTern, / 9—wm

2, Solve the pair of equations by reducing them to a pair of linear

3
/ equations

o4 HAPATAR (AF AL M3 I T4 3991

Wﬁ%ﬁﬁmc@ﬂﬁwqmﬁwmmw
mmm%«ﬁmﬁmﬂmmamﬁmmmﬁ@

ﬁmﬁ%ﬂ@m@naﬁmmﬁ%@nﬁmmwﬁq

4

ABCD is a trapezium with AB||DC. E and F are points on
non-parallel sides AD and BC respectively such that EF is

parallel to AB. Show that
ED FC

33.

B19-GM/21B. [ Contd.
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ABCD @Fﬂ@mABch.mwmmwacq BYJS T

EWFiﬁﬁﬁammi’amEmewmﬂw'm
AE BF

ED FC’
ABCD G AB||DC. 9% <P AT AD @& BC-93 TR

G E @R F 6 R @¥Toma (oW o WS EF R AB AR |

e @ AE _ BF

ED FC
ABCD Rmmfy AB||DC. 3R Ry sma™ AD 3 BC wmm

i@ E 3m) F A7 fard) Qe avm smam s EF 3m AB fom wm
fif fz 42 _ BE o

ABCD & wie9 § faid AB||DC 3 IR Y=t AD 3R BC w
m:ﬁgEﬁRmeﬁa%%EFgmAB%m%lmm%
AE BF -

= =223
ED FC%

.

. 34. A 15 m tall boy is §nding at some distance from a 30 m tal]
building. The ang{s\ elevation from his eyes to the top of the

building incre @ from 30°'to 60° as he walks towards the
building. Fi@e distance he walked towards the building. 4

1'5 m %\%r%mwso m ¢4 JHERR @ R @wwe 7w 2 wwy |
od o TC TS PRI =091 3051 (S6 534 o1 WOHRRIHHA Sieey
mfﬂﬂSOWWﬁO“ZﬁWI@@WWWWWﬁ@
1| ~

'S m 777 @3l (0 30 m wer SRR (s Ry ey TR g |
Gl Seferfba e 26 TeAM SNk 0% ©R oW (A WHRERID M
B& @1 30° (W 60°Ce (s TW 1 wR WAl fiee (&b MewR
ey 3 |

1'S m M= 9@ damm 30 m M TR (JfEEfwr @ tvme g 2
%Wﬁ%ﬁ?ﬂ%ﬁﬁnm@’wﬁ%ﬁmwmsw

mﬁo°mmlﬁﬁﬁ%ﬁmwmmﬁ@|
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I'S m & @& @F 30 m 3 Tk Y9 A T 3 W @ B W« =@
9 vEa B R T R 9 e afE A ¥a F e w1 3 o 30°
R 60° B Wia1 8| 913 % 78 waw A R FraH gt wo were T )

35. Prove that the tangents drawn at the ends of a diameter of
a circle are parallel.
T T (A B APH TS Bl =of STATEATA |
2N AT (T LS TIOR TAW HIA] (S TS |
BIER @em @ e @E e e gl dem i wEe fm
S| |
fag Hifte & et 39 & fedlt e & Rt o ) ed-Yand wwia
Bt §

36. Construct a triangle of sides 4 cm, 5 cm and 6 ¢m, and then
a triangle similar to it whose sides-are 2 of the corresponding

sides of the first triangle. (Write the steps of construction.) 4
4 cm, 5 cmWGs\é?W Wbl fp® R 3 WF oK fPres TR
W@ﬁhaﬁﬁ'@%@wmwﬁwmwﬂw
21| (ww@mmﬁ% )

Q
4 cm, 5 c% 932 6 cm IR I ITH TEF I 9R SR 97 TP

afb fargs SR 90 W g v Rrguite s mehE 2 g1 73 )

(SreeR oG foracd 1)

4 ¢cm, 5 cm 3R 6 cm ITERIA AFA @YW i smy 3f "
AEQ FEE 9RE A rERym snfl i srafRm A srafRimt

Ara H@ﬁﬂ@tﬁ%‘ﬁﬂmﬂl (e R forl)

4 cm, 5 cm @R 6 cm SR It & P it @ A ok i s
greq T o Fie & = i, e et e ge fiye A @m aeneit
2 € (T & =i =l ferfae )
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SECTION—E / ¥—iq1 / &1 / T—amgr / T—wm

37. A toy i's in the form of a cone of radius 3'5 cm mounted on
a hemisphere of same radius. The total height of the toy is

15:5 em. Find the total surface area of the toy. (Take 1 = %2)

B T T [PV
WS ) eadr g
(n=g?3211'?‘wﬁi1)

€% @b WP 8°RS 3-5 cm TP 9Bl "1
THS A 155 cm. JOR o o ey 74

AF T I AP 9 W TR 35 em TS 93
RE TSRS | (EBA b Twel e 155 cm. CXERIGY A e
ﬁ’fﬂ%‘ﬂﬁil(n:%gm ) "
AR PUEE T WE@E T A el 56 365 cm V@R TH By
e AR | Pyt TR shuma s 1545 cm. FueT TR forg

mﬁﬁ@ﬁg:n(;;:z—f-aﬂﬁw)

N :
o faetr B 3:5, i TR T g F e w2, 3 e a0

¥ ! @
a&hﬁwmﬁﬁ@mfﬁeﬁ%ﬂwm 155 cm R 30 Ry =1

st o Hfm) (n=2—;“1?ﬂﬁr'1)

Or/m_aar/ww,/wz’amar

Metallic spheres of radii 6 cm, 8 cm and 10 em respectively

- are melted to form a single solid sphere. Find the radius of the
resulting sphere. Also find the surface area of the new sphere
22 '

(Take n = ?)

6 cm, 8 cm WF 10 cm APNYY f¥RE
(TR 1 A A (IR Ay

Wﬁ@ﬁi(u=¥qﬁqﬁﬁ)

TP N ST GOl TG (ST
R =411 s TP (IR

- 1B
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6 cm, 8 cm 93} 10 cm IPIER ol 47 (i@ sfferew @3l 1w
(ST CSUR a1 ZEoA1 | 79 (oMeraivd APy e vea1 1 31w g (omerafba
22

Wﬁ‘fﬂﬂl(n=——7—ﬁtﬁm)
6 cm, 8 cm ¥R 10 cm @AM ARYW UIgH TR MW TR AR
MEH T R THEE S | MM g @ @ea) g1 | mem g

ﬁ@mﬁﬁyl(n=§msﬂ)

¥A%: 6 cm, 8 cm 3 10 cm f=melt a@ ug & @7 3@ WA
%) faars w 931 3/ T 99/ S 81 3| R e &) e g fif)

|1 @ 12 3 M T gE dawa ot g Al (n=%g?ﬁﬁm)

. The marks distribution of 30 students in ‘a mathematics
examination are given below. Find the mode of this data : 5
T Oifere 30 & g RArwe sftes (o[ FER M (xR | 9] SR
e Iferer 30 A RCAA IS AHE A1 [T (ST TWR | 9% T
I el e -

MEEA FegaE @ 3 é%qwm AHERAE HETRE AT TEIRIE!

m S| & ﬁ@ :

30 frenfiiat et < whien A ww frg T 3 AR feg e 31 3 R
Class interval *[10-25 | 25-40 | 40-55 | 55-70 | 70-85 |85-100
1T wFT
Cof ST
oy @ o
T TR
No. of students 2 3 7 6 6 6
RIGT J53
RITG] 3301
I Al
faenfefat &) g

.

* % &
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